CLASS : 10th (Secondary) Code No. 2107
Series : Sec/Annual Exam,-2025

"Roll No. SET : A
fasm

SCIENCE
(Physics, Chemistry and Life Science)
{Academic/ Open)
[ o v ol e |
| Hindi and English Medium ]
(Only for Fresh/Re-appear/Improvement/Additional Candidates)

q7g: 3 -V"E}] [ gﬂlfﬁ‘:': 60
Time allowed : 3 hours ) [ Maximum Marks : 60

o 3]
§
%
-

F7 TT F T [ 59 §97-0F 7 JRT 72 16 7 7 30 &
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The Code No. and Set on the right side of the question paper should be wnitten by
the candidate on the front page of the answer-book,
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Before answering the questions, ensure that you have been suppiied the corred and
compiele question paper, no claim in this regard, will be entertained qﬂcr

examination.
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All questions are compur.sem

ny  aTEgE 5 & g J%-?m
Write the correct option i obpﬁ"fmf’ 1y quesTions.
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SECTION - A
(s Rear)
(PHYSICS)

1 FR T R T w Bt f gt w ey R e o A A @ s A

o T Y 1
(A) ¥ T B) ¥

(C) #&R TH (D) o & FRAS N0 I

No matter how far vou stand fmm?; mirror, your image appears erect. The
marror is ikely 1o be ; g

A} only plane mafi};;-uy concave

{C) only convex (D) either plane or convex

2. Mﬁg_ﬁﬁﬂ-mzmvmzgow%|m3ﬁ110vmﬁﬁam%,m

wWE o TR A e Ay 1
(o))
(]

(A) 100 W . (B)eA75 W
P

() 50W (D) 25W

An electric bulb is rated 220 V and 100 W. When it is operated on 110 V, the

power consumed will be :

w
=

(A) 100 W (B

&
=

(C} S0W (D)

XTYXdN
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.............

4. s F FA-{ fg ol A B 7

Which gas is filled in electric bulbs &
-rr

5. Prefafad wed & & & mﬁiﬁﬂq@aﬁ'{mm g & AR BA Y gugE [T
1

F T FX gL I AT a
AT (A) : hwﬁmmmﬁmmmmmmam
F F Ha S B :
FT (R) : %Wﬁw@maﬁaﬂa%wﬁmwﬁl
A) (A) AT (R) AT AT § & (R), (A) F 78 e 2
B) (A) I (R) A wA &, BT (R), (A) F T e T e

(C) (A) T 8, AfFT (R) ITHA 2

(D) (A) 3TFA &, WHA (R) T IS
<r
The question below consists of tu%f statements : Assertion (A) and Reason (R),

answer the question by selecting t@
(A) : The eyelens has ﬁxe ability to focus clearly on the retina by

appropriate option given below :

Assertion
adjusting its focal length.

Reason (R) : This phenomenon is known as power of accommodation.

Both (A) and (R) are true and (R) is the correc't explanation of {A).

(A)

(B) Both (A) and (R} are truc, but E] is not the correct explanation of {A).
{C) (A) is true, but (R) is false. %

(D) (A) is false, but (R) is true. %
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e ook @ s 53 A ot A e A d?

| _ >
Wy does the sky appear dark instead of blue to an astronaut

.aﬁma:ﬁﬁﬂfﬁmﬁwﬁﬂ?m%? | -2
Jp w hat factors does the resistance of a conductor depends ?
=23 .
o @93 EE w e F Pt & S| T T m%ﬁm%mﬁaﬁi
<%
Ay R=V:1 (B) R=1/V
Nefine Ohm's law. State 3! umt of resistance. Select the correct equation of
resistance in accordance to Ohm's law from below options :
A R=V1 B) R=1/V
B
9. ial ﬁ%@éﬂmﬁﬂﬁm@ﬁqa | 3
Draw magnetc field lines around a g‘ar magnet. |
) Sz A E AR @ TR
Write anv two properties of magnet% field lines.
10. :a ﬂmm%gmfmmqﬁﬂmﬁaﬁaﬂéu 5
Define the principal focus of a concave murror.
(o) T W AW FEA W EE B A T aida g s e 1
Name a mirror that can give an ere¢fand enlarged image of ;aﬂ'object.: | |
O T § o o e T e Y A WL 2
Why do we prefer a convex mirror a§ a rear-view mirror in vehicles ?
2107/Set : A) % '
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OR

(a) Rt A9 B 1-mwmﬁqﬁmﬁﬁaﬁﬁm
Define 1 dioptre of power of a Lens,

(bl} zmmgﬁmﬁm%ﬁﬁwmﬁﬁm

Find the power of a concave lens of focal length 2 ™

© P ga R
lWriLe the following formulas :
() o

Lens formula

% 2309249

(i) o G
Mirror formula
% — §
Ll
seglon -B
(el fom)
(CHETWSTRY}

11. ﬁsqﬁﬂﬁa@ﬁﬁzﬁmmﬁwéﬂ%?ﬁﬁwﬁgﬁu;
A) TS T Ol S FAES I E
(B) ﬁ?ﬁ'ﬁq?"ﬂ@mmﬂﬂ?&%l
(C) ¢ arfafea & Bl
(D) T AT A T

- 2107/(Set : A)

XTHXd



2107/(Set : A)

g # Choose the

(7)

what happens when dilute hydrochloric acid is added to iron filn

correct answcer |

(A) Hydrogen gas and iron chloride are produced.

(s

(B) Chlorine gas and iron hydmxig}: are produced.
o)

(C) No reaction takes place. o
™

(D) Iron salt and water are produ&;d.

12, TR B e & P & Iwi b # T ] A A 7 0 f
(A) ST SRR e (B) Tz T Wi
() TgAd T (D) T "HEl

g

What measures will you take to prevent the 'Namkeen' from getting rancid after

removing it from the packet?

(A} Add anti-oxidant

09249

(B) Fill Nitrogen gas

A3

(C) Store in an air-ught contain

(D) All of the above

13, ... TR @dE AEEaE 96 | | 1

............ 1s the most malleable mdidl.
[0 4 .
14. b A @ e T RS 7 | | 1

Why do ionic compounds have h@z melting points ?

2107/(Set : A)
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15, fr=fafg 0@ # 3w % - afwm (A) ﬁ‘rrm(m,smar#ﬁhwwm
R T w7 g T At 1

AT (A): THMT T PR AW T F A
FT(R):  ERFAHF 1A A FeA AT %7 2 B
(A) (A) 3T (R} 5t 7= ¥ 31 (R), (A) B WA @I %

(B} (A) d7(R) T e B, A3 (R), (A) B A e w5 R
(C} (A) 7o ¥, A (1) s By

(D) (A) 35 ¥, afF (R) A B

o))
The question below consists of two ‘Wdtemcms Assertion (A) and Reason (R},

answer the question by selecting th:mppropnate option given below :
Assertion (A): Our stormach produ@s hydrochloric acid.

Reason (R) : Hydrochloric acid turns red litmus blue.
v

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R} is not the correct explanation of (A).

(C) (A) is true, but (R) is false.

L2 )]
(D) (A) is false, but (R) is true. §
: o
16. T el § o N e ¥ 7 T @i aRa ow s 2

What is combination reaction ? Give one example with chemical equation.
17, fots ot 91 Tt g o gas & @A fd Py
Write the chemical formula and twobéses of bleaching powder. |
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OR

(a) Wﬁﬁmﬁm,mwﬂﬁm%?

Why do acids not show acidic behaviour in the absence of water ?
(b) TR AHER = R 2w aae SR

What is neutralization reaction ? Give an example.

T AR T -

Competency Based Question :

AT W FHW Te

e 3wy

LG
OR

9249

ai-a1 ey stehga ol avams TR @ gt dn @ v ¥ 7

F] [}
L]

T o Pew | o T ATEES
"_ A Fe Fe

E B Fe FBSO;}_

i C Cu Fe

| D CuSO, Fe

In the reaction of Iron with Copper Sulphate solution (CuSO,) :

*)]
Fe + CuSO‘Ea Cu + FeSO,4

2107/(Set : A)

eqﬁf@ ¥ Fe+CuSO, - Cu+ FeSO,, @ T T H

2

Which option in the given table cog'ectly represent the substance oxidized and

reducing agent ?

™M

2107/(Set : A)

r —aG
Option Substance Oxidized | Substance Reduced
A Fe Fe
X B Fe Z FeSOy
¢ Cu ?E Fe
D CHSOL w Fe
o ) |y
>4

P.T.0.
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18. ﬁqﬁﬁ%ﬁ%mmﬂwmmﬁwmmm’m 3

Write word equations and then balanced equations for the reaction taking place,

when :

ja) A FREE S wEm i & ane st S 2
Dilute sulphuric acid rcacts. w[:;n zinc granules.

(b} ] FERAE o ek wrdie T bR F
Dilute hvdrochloric acid reacls‘{with magnesium ribbon.

() T ERENE e A 3 Y & g ofufew A B
Dilute hvdrochloric acid reacts with iron fillings.

19. RiTW, S @ I & B wem R e faee 3

Write electron dot structure for sodium, oxygen and magnesium.

b..I" ;

>

[.é L}
)
~OR
(0!
: _ (o .
et TR $ AR T O o el § B A7 ot aard 3
Write any three differences between metals and non-metals on the basis of their'?

chemical properties.

? b4
What are the two properties % carbon which lead to the huge number of
on € ‘ -
carbon compounds we see aroand us ? =

2107/(Set: A)
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& O3 T A Wwwwq&%ﬁmimﬁwﬁ?ﬁ
How cans rthane] and ::lhgm:& acid be differentiated on the basis of theif

procsacat and Chemaal propertics ¢
ynq
OR
L rrirwhers w3 ¥ prm et i e b ?
What o hydrogenation ? What s ts industnal application ? .
- m 3
oo v wet wEe @ Bl e
- ] m ¢
Explamn the mechaniam of thagpleaming achion of soaps.
o)
Sy

OR

Competency Based Question :

ﬂﬂﬁm#mhﬁ@mmﬁh:

R a &
1 fefﬁvaawaamsgﬁwﬂqﬁw%mﬁam&mm%n

2 A+ c & A PG A 9 e A A "B T b

i) W%WWB@W! 1
{ii) Haérﬁm:q'mﬁﬂﬁrn%mzﬂﬂﬁmm%,ﬁtaﬁﬂ-ﬁtﬁuwaﬁ?
s T o 2

- - - - S
Gy oA ® @ Iwan o g | 2
2107/Set - A) 9 P.T.O.
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The table given below Shows the hints giW
Sr. No M

— ]

I Compound "A" is widely used as preservative in pickles.
i nd "B".
* 2. | A" reacts with Ethanol to form a sweet smelling compou
| — — | | i
Based on the above hintg answer theioliowmg questions
o
1 wan - A
(i Identify the compound ‘A" and ¢gm pound B".
«

i Aa ]
iy Which gas is produced when compound "A" reacts with washing soda :

Write chemical equation.

(i) Write two uses of Ethanol.

grs - 1
SECTION-C
(cfrr )
(LIFE SSIENCE)
>
z1.ﬁqﬁﬂﬂamﬁﬂwﬁﬂmm§? 1
(A) MM (B) TS
(C) spEAEa (D) fEaafen
Which of the following is a part of the male reproductive system in human
beings ? E
{A) Ovary (Bjx. Uterus
{C) Vas Deferens (D)i Fallopian tube
Z

2107/(Set : A)
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{A) B W e

(B) THE W guet o
ql

(C) T §
2]

(D) So0 qet oo

Which of the following is not ENvironment friendly ?

(A} Paper bag

(B) Wooden stick

=

{C) Balloon ﬂ
o
(D} All of the above o
_ M
23. FAIFICHA (CFC) A TEH .......... TR TR G 1
Chémicals like CFC harms the ....oo....... layer.r
W, B oy A O R S R o e ARy
Which gland requires iodine to progiucﬁlormoncs ?
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25. ﬁqﬁmﬁﬂﬂ#Wt:mﬁm(mgﬁ?mqlg,’gﬁ%iﬂ%ﬁaﬁﬁwm
7 999 %79 g I df 1

afwpr (A): TEY B 71 A gfm @ grm el AR B
FO(R): Ao om amm it ¥, s AR A o # oes B

(A) (A)ST(R) AT 79 ¥ @01 (R), (A) B w8 amem

(B) (A} A (R) & w1 &, &f (R), (A) & w1 amem T B
qi

(Y
(C) (A) 79 &, @A (R) A 2 a
™
1!

(D) (A) 58 2, aFF (R) g1 ¥

i

The question below consists of two statements : Assertion (A) and Reason (R),
o))

answer the question by selecting the apﬂopriate option given below :
o
Assertion (A) : Hormones are responsgle for the growth of stem in plants.

Reason (R) : Gibberelin is a plant hormone which helps in stem growth.
(A} Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A) is true, but (R) is false.

(D) (A) is false, but (R} is true.

XTIXdN
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46, St B A e A ofe § 7
What is the role of brain in reflex action ?

UL
OR

ﬁ@mﬁﬂﬂﬂw%ﬁtﬂr@? -

How do we detect the smell of an agarbag ?

27, e T e dR A e ® P’

: 2
What is the role of the seminal vesicles and the prostate gland 7

: 3
- 28. @ﬁm@%ﬁmﬂmﬁﬁ‘mwﬁa
Draw a labelled diagram of the longitudinal section of a flower.
29.%%%%%@%%%%&%@%%@%&@@%%? 3
How do Mendel's experiments show that traits are inherited independent]ﬁ ?
A
ord
OR 5

2 .
A, 2 R A W E gl G A A O Y

~ Plant with round, green seeds was crossed with wrinkled, vellow seeds plant
(a) mﬁﬂﬁﬁ{ﬁmzﬁla{@ﬁam%m - - 2

What will be the shape and colour IE“-ecda in F gcmﬁmlmn ?

210;1‘1' Set: _
(, _ A . P.T.O.



(b)

(a) BAT SIS H A RN G B R 7

(@)
Wﬁmﬁiﬁmeﬁgaﬁwmmh%wwaaﬁwﬁwmm

Show the movement of water during transpiration in a tree with lht help of

(16)
e e i) of S
Show the crossing with diagram.
) e e R G § e of 8 7 o
What are the differences between autotrophic nuftr

nutrition ?

2107/(Sey, A}‘

ition and heterotrdph'iﬂ |

o T b M A SR e e

. (#)]
memmmlg 3

N . .
Draw the labelled diagram%f human digestive system.

=
CUC

OR

fap
What is the role of the acidc?lqn our stomach ?

labelled diagram,

XTUXdN
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